
 

 

March 2024            1 
 

ASYMTEK IntelliJet® Jetting System Spares List 

A range of spare parts are available to support Nordson Electronics Solutions products, keeping them running at 
peak performance. Nearly all spare parts are sold as part of a spares kit, with a few exceptions.  

How to Locate and Order Spare Parts 

If you are referring to the User Manual to complete a procedure, you can search for a Kit Part Number or an 
individual Part Description to identify the kit or individual part you need to complete the procedure. 

If you have a part number, search the Lookup Part Number column in the tables below to identify whether the 
part is sold in a kit or as an individual part. You will find it in the Spares Kit List table if it's sold in a kit. You will 
find it in the Individual Part List table if it's sold as an individual part. 

To locate a kit or individual part, do the following:  

1. Download this file and open it in a browser such as Google Chrome. 

2. Use your browser’s search feature to search for a Kit Part Number, individual Part Description, or part 
number. 

o If the part is sold in a spares kit, refer to the corresponding columns in the Spares Kit List table 
for details about the kit. Use the Kit Part Number to order the kit. 

o If the part is sold individually, refer to the corresponding column in the Individual Part List table 
for details. Use the Lookup Part Number to order the part. 

3. To request a quote, do the following: 

o Click here. 

o Locate your region and click the Email link. 
A draft email addressed to the recipient you selected is displayed.  

o In the Subject field, type New Request for Quote. 

o In the body of the email, provide the following information: 

▪ The Kit Part Number(s) for the kit(s) you want to order. And the quantity of each kit. 

▪ The Lookup Part Number(s) for the individual part(s) you want to order. And the 
quantity of each part. 

▪ The Ship To information: company name and complete shipping address. 

▪ Your name, phone number, and email address. 

o Click Send. 

 
 

https://www.nordson.com/contact-us/contact-electronics-solutions/02---main---order-spare-parts


ASYMTEK IntelliJet® Jetting System Spares List 

 

March 2024            2 
 

Spares Kit List 
All parts listed in the following table are sold only within kits, not individually. The information in the Lookup Part 

Number column allows you to locate a part that you previously ordered separately but is now only available as 

part of a kit. The Quantity column shows the quantity you will receive for each part in a kit. 

Kit Name Kit Part Number Part Description Quantity Lookup Part Number 

CONSUMABLES KIT,INTELLIJET 7284671    

  BOOT,VAC .120 ID OLIVE 10 381523 

  LUBE,SUPER,SYNTIC PTFE .5oz 1 7231167 

  
ASSY,FEED TUBE, 
56MM,PU,PKG50 

1 7288114 

  
KIT, ACCESSORIES, RS 
CARTRIDGE 

1 7289674 

  
LABEL,ZEBRA, 4"X2", THERM 
WHT 

1 7276386 

  
BOX,11X6.5X2 WITH CHERRY 
LOCKS 

1 382827 

  LABEL,IF SEAL IS BROKEN,6800 1 7257979 

KIT, VALVE ,IJ 7284672    

  HOLDER,SYRINGE,5CC 1 7201409 

  HOLDER,SYRINGE,3 CC 1 7205793 

  
ASSY,RECEIVER 
HEAD,3CC,CLEAR 

1 7286403 

  
ASSY,RECEIVER 
HEAD,5CC,CLEAR 

1 7286404 

  
ASSY,RECEIVER 
HEAD,10CC,CLEAR 

1 7286405 

  
ASSY,RECEIVER 
HEAD,30CC,CLEAR 

1 7286406 

  
SET,SYRINGE,EFD OPTIMUM 3-
30CC 

1 7288100 

  
HOLDER,SYRINGE,10CC,IJ 
COMP 

1 7288139 

  TOOL,POPPET SEAL INSERTION 1 7295269 

  
ASSY,TOOL,POPPET 
INSERTION 

1 7299276 

  
LABEL,ZEBRA, 4"X2", THERM 
WHT 

1 7276386 

  
BOX,11X6.5X2 WITH CHERRY 
LOCKS 

1 382827 

  LABEL,IF SEAL IS BROKEN,6800 1 7257979 

KIT, CARTRIDGE TOOLS 6655205    

  
TOOL, SEAL REMOVAL, 
PLASTIC 

2 392401 

  
ASSY, TOOL, POPPET 
INSERTION 

1 7299276 

CLEANING VIALS, RT 
CARTRIDGE&DJ-9500 

6655161    

  VISE, PIN 1 901916 

  
PROBE, VIAL NZL CLEAN, .007" 
DIA 

5 901922 

  
PROBE, VIAL NZL CLEAN, .011" 
DIA 

5 901923 

  
PROBE, VIAL NZL CLEAN, .014" 
DIA 

5 901924 

  
PROBE, VIAL, NZL CLEAN, .003” 
DIA 

5 901935 

  VIAL WIRE, 25PC., .0024 DIA 5 7208918 

EFD 6 OZ VALVE KIT (OPTIONAL) 7284706    

  FIT, Q-D MALE, 4MM BARB 1 198923 

  TUBING, PU, CLR, 6MM OD 0.65 6126536 

  CLAMP, HOSE, TWO-EAR 1 7208227 



ASYMTEK IntelliJet® Jetting System Spares List 

 

March 2024            3 
 

  
FITTING, LUERLOCK X 1/4 
MNPT-PL 

50 381667 

  RETAINER SYS, 6OZ, CL/BL 1 7012433 

  
ASSY, HOLDER, SYRINGE, EFD, 
6OZ 

1 7284697 

  
ASSY, FEED TUBE, 65MM, PU, 
PKG50 

1 7289877 

ASSY,HEATER,INTELLIJET,TESTED 7270310    

  BALL,CHROME STEEL,3/32 DIA 1 195848 

  
O-RING,FFKM,.070 ID X .04 W 
(001-1/2) 

1 332496 

  
SCREW,M2X.40X6 FLTHD. PH. 
REC. 

2 387957 

  BOOT,4 PIN HEATER,YJ 1 7270164 

  HEATER BODY,IJ 1 7284696 

KIT,MLFS,DJ9,DJ9.5,NJ,IJ 7201410    

  CLIP,2.5/6OZ,MLFS 1 7244118 

  
MAGNET, 10 CC, EFD 
FOLLOWER 

5 7204622 

  
THREADLOCKER,REMOVBLE,24
2,10ML 

1 392398 

  WASHER, FLAT M3 1 387964 

  SCREW, M3 X .05 PH. FLAT X 8 2 387974 

  SCREW, M3 X 0.5 SOCKET X 8 1 387980 

  
SCREW,M3X20,SOCK.HD.CAP,S
S 

2 387984 

  SCREW, M3X6 BUTTON HEAD 2 7244697 

  SCREW, BUTTON HEAD M3 X 10 4 387994 

  
ASSY,SENSOR,LOW 
FLUID,MAGNETIC 

1 7241676 

  BRACKET,MLFS,DJ-9000 1 7201398 

  PLATE,MOUNTING,MLFS 1 7201399 

  HOLDER,FLFS,DJ-9000 1 7201401 

  MAGNET,CERAMIC,.75"OD 5 7206766 

  
STRAIN RELIEF 
BRKT,MLFS,DJ9000 

1 7210604 

  
STRAIN RELIEF 
CLMP,MLFS,DJ9000 

1 7211566 

Individual Part List 
The following items are sold individually. 

Part Description Lookup Part Number 

BOOT,4 PIN HEATER,YJ 7270164 

ASSY,FEED TUBE, 56MM,PU,PKG50 7288114 

TOOL, IJ GOLDEN HARD STOP 7288112 

 


